
1) 1211/20 x 716/18

Answer: ____________

2) Convert the following improper 
fraction 133/10 + 1412/13 to a mixed 
number

Answer: ____________

3) 1410/14 x 45/6

Answer: ____________

4) Convert the following mixed number 
89/6 to an improper fraction.

Answer: ____________

5) Convert the following mixed number 
1410/13 to an improper fraction.

Answer: ____________

6) 1013/18 ÷ 13/4

Answer: ____________

7) 514/20 x 47/17

Answer: ____________

8) 1710/11 ÷ 49/19

Answer: ____________

9) 1613/17 ÷ 123/4

Answer: ____________

10) Convert the following mixed number 
118/6 to an improper fraction.

Answer: ____________

11) Convert the following fraction into a 
mixed number: 33/15

Answer: ____________

12) Convert the following improper 
fraction 1915/20 + 210/11 to a mixed 
number

Answer: ____________

13) 13/16 x 416/17

Answer: ____________

14) 1711/12 ÷ 75/14

Answer: ____________

15) 173/7 ÷ 153/14

Answer: ____________

16) Convert the following fraction into a 
mixed number: 32/8

Answer: ____________

17) 61/15 x 1511/12

Answer: ____________

18) 12   49/4 - 6   13/2

Answer: ____________

19) Convert the following mixed number 
2015/5 to an improper fraction.

Answer: ____________

20) Convert the following fraction into a 
mixed number: 16/6

Answer: ____________

21) 124/8 ÷ 510/15

Answer: ____________

22) 13   250/19 - 12   116/9

Answer: ____________

23) Convert the following mixed number 
417/18 to an improper fraction.

Answer: ____________

24) Convert the following fraction into a 
mixed number: 33/8

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 13, 2018

http://www.geekschool.co.uk


25) 21/2 x 163/6

Answer: ____________

26) Convert the following fraction into a 
mixed number: 33/13

Answer: ____________

27) Convert the following fraction into a 
mixed number: 28/4

Answer: ____________

28) 20   287/14 - 1   3/2

Answer: ____________

29) 13   402/15 - 11   389/17

Answer: ____________

30) Convert the following improper 
fraction 515/18 + 911/15 to a mixed 
number

Answer: ____________

Total: ___ / 30
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Answers:

1) 991÷180 2) 2829/130 3) 715÷42 4) 19/2 5) 192/13 6) 68÷63 7) 255÷34

8) 43÷935 9) 191÷289 10) 4/1 11) 21/5 12) 2229/44 13) 559÷68 14) 2269÷618

15) 131÷213 16) 40/1 17) 96101÷180 18) 53/4 19) 23/1 20) 22/3 21) 27÷34

22) 46/171 23) 89/18 24) 41/8 25) 411÷4 26) 27/13 27) 70/1 28) 19

29) 378/85 30) 1517/30
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